B.A. (CBCS) DEGREE EXAMINATION,
NOVEMBER 2023.

Second Semester

Economics — Core

STATISTICS FOR ECONOMICS —1II -

Time : Three hours
PARTA—(10x 1= 10 marks)
Answer ALL questions.

Choose the correct answer :

1. X:26, 14, 23, 17,30
¥ : 20, 17, 13, 31, 49
/ ZX LoHmILD ZYé; FHeiTL D&
(<) 15,12

(fF) 22, 24

(1) 22, 26

(@) 20, 26



X : 26, 14, 23, 17,30
Y: 20, 17, 13, 31, 49
Find ZX and ZY
(a) 22,26 () 15,12
(c) 20,26 d) 22 24

aunesiiu &pHE UG UNSRISET 2_areTar.

(=) prems (=) @Hs

@) operm () <o

There are phases in the business
cycle.

(a) Four (b) Five

(¢) Three (d) Seven

yaraflwe &@msgibser, areeuflaeiiig
SO DLUMGLD. .
(=) sreobent QsrLi () GOULQLamser
(@) Gariy Curég (7))  Hapssey

A is a set of statistical observations
arranged in chronological order.

(a) Time series (b) Index number

(¢ Regression (d) Probability
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et e

&ML ClL_eremfler

aunpsmssQeva LT
o 229000y 2P, 00
Zplql ZP[QQ
@) 229 100 2% 100
ZPOQO Zplqo
Cost of living index number formula
Pq
(a) Z—l—lxloo ®) MXIOO
Zpl‘h Zplqo
- .
© 229 o0 ) 2P 00
Do9o zplqo

GO ALar, ey GO QL eir
TR SHMPSSLILIHID.

(1) emevGwiiren
(<) Wag
(8) mrag-erl_HOeumié

()  QuerGev
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index number is called ideal index

number.

(@) Laspeyre

(b) Fisher

(© Marshall-Edgeworth

(d) Bowley

srgdwionar Hlapayser WwHIID ﬁ&@msaﬁsﬁ Qurss
&0 Rapssasafier efldlgib

cramperpsslLGEDS.

(=) QsrryGunés (=) 2 Ler@sminy

@) fdepssey (F) Csisons

The ratio between possible events and total equal
probability of events is called as

(a) Regression (b) Correlation

(c) Probability (d) Association
PmEssampw wWHMIL Gders LT ST
aenp sepssuGEDg.
(1) QenerTuL 1gWIch (<) Papssa)

(@) wrhsear () Geau SianansgIb
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The presence and absence of the attributes is
called as

(a) Contingency table

(b) Probability

(c) Variables

(d) All of the a.bove

Qereumd ~ yerell  efeupisealfmbg  eraflenowimar
FamlLdaperp apold GO QLET@®T  HDIDES
> P, =13 wpgi Y P =24

(=) 54.17

(@) 1.85 (%) 0.54

(=) 184.62

Construct index number from the following data
by using simple aggregate method ZP =13 and

> P =24

(a) 184.62 b) 54.17

(© 185 (d) 0.54

e@®  useaL 2Bl Gurg o Qurgs
swamuuGparer Blepad

(1) 6 () 5

@) 4 Com s
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10.

11

If we throw the dice, then is the

equal events of the total numbers.
(2 6 ® 5
© 4 @ 3

Pspsaeier peller CamiumieL o meansdweur

(=) Eemev

(=) 96

(@) <pengQaradGLomiey
() embQeuddger

Modern theory of probability was developed by

(a) Keynes (b) Pigou

() Andly Kolmogorov (d) ' Samuelson
PART B — (5 x 5 = 25 marks)

Answer ALL questions by choosing (a) or (b).

Each answer.should not exceed 250 words.

(S1) Qaraumb sreysaers Qsrar® evidwiGuefle
&7 auflens o Lan@sriy Qaw.
X: 48 60 72 62 56 40 39 52 30

Y: 62 78 65 70 38 54 60 32 31
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N

12.

Calculate Spearman's rank correlation
co-efficient from the following data :
X: 48 60 72 62 56 40 39 52 30

Y: 62 78 65 70 38 54 60 32 31
Or
(<) eLar Qsriienu semsE@b wapeow afeund).
Discuss the measurement of correlation.

(=) Qereumn sreysmers Qanan® QgmiGunés
soaur@seae X @ Y wpmid Y G X sners.

10 12 13 12 16 15

40 38 43 45 37 43

cllewed (@p.) :
Csenau :
Find regression equations of X on Y and Y on

X from the data.
Price(Rs.): 10 12 13 12 16 15

Demand: 40 38 43 45 37 43
Or

(<) e LeQgriiysgn QgrmyGunsgd 2 drar
Caupursear elleré@es.
correlation  and

Distinguish  ‘between

regression.
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13.

14

()

(<)

(1)

urdlé sgnsfl wHPL PE®L syTs WPepsmer
&m&ELNE efeufl.

Briefly explain methods of semi-average and
moving average. )

Or
srwg Oerir eflesdear LEHadr LoHm) b
Uwensener alleufl.

Explain the components and uses of time
series.

Qeraumd  sreyseErsE  Gagflar  wapew
vwetuRsS e GHSLAL & seT_Hs.
Qunmeraser e  ojaray

Po Py q
A 6 10 50
B 2 2 100
C 4 6 60
D 10 12 40

Construct price index number from the
following data by using Fisher's method.

Commodity Price Quantity
Po P: q
A 6 10 50
B 2 2 100
C 4 6 60
D 10 12 40

Or
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15.

(=)

(1)

(<)

GOUL QL ansallear LwerseT WWHYD  SiGDET
swurflaflérn  Cumg gHubd Hssosmar
efleurd.

Discuss the uses-and problems involved in
the construction of index numbers.

.rﬁla;gggemﬁ]m. ueTseT wHmb WEHLUSSIUEDHS
Ul el Ha.

List out the properties and importance of
probability.

Or

l.JG(iDTL] Qsrens anl’iger cuassemer efleul.
State the types of association.

PART C — (56 x 8 = 40 marks)

Answer ALL questions by choosing (all) or (b).

Each answer should not exceed 600 words.

16. (o) &G Osruul@daer ssudsmas  &TID

X:
Y:

Buwirsaflear 2 Len@asriys Qswene samLs.
2224 26 29 27 28 29 30 31 32 34 35 37
18 20 20 24 22 27 21 29 27 27 27 31 32

X@o Y oppo Y G X Qear oL an@gmiy
swenum el serL M.
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(=)

17. (=1

(=)

Calculate the Karl Pearson's co-efficient of
correlation from the data given below.

- 22 24 26 29 27 28 29 30 31 32 34 35 37
- 18202024 2227212927 2727 31 32

Find the regression equationof Xon Y and Y
on X.

Or

Qsmitysener SaraSl(Hid

cflen&@miser.

QPapEamaT

Explain the methods of measuring

correlation.

X@o Y wpppw ¥ @é Xuler oL earGgm iy

FETUT L S&rLpa.
X:101113121615171814
Y:403843453741422531

Find the regression equation of X on'Y and_ Y

on X.
X:1011131216151718 14

Y:403843 453741422531

Or
Qg GunéeE Lwensamer GHLGS.

State the uses of regression.
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18.

19.

() sreg Qs wufleslar sapsaar eleu.

Explain the components of time series
analysis.
Or
(<) Yemeupd Leraf eleugiisErs@ BaHL syne(fl

QoD pob 3 yaEThisar Bsmb Frrsflaws
ENES.

aumLLb : 2007 2008 2009 2010 2011 2012

meiey: 18 26 28 22 17 14

e(pLLb : 2013 2014 2015 2016 2017 2018

msfey: 23 30 29 25 24 20
Compute 3 yearly and 5 yearly moving
averages for the following data by using the
method of moving averages.

Year: 2007 2008 2009 2010 2011 2012
Consumption: 18 26 28 22 17 14
Year : 2013 2014 2015 2016 2017 2018

Consumption: 23 30 29 25 24 20

(=) I A arsailer sre soodp LHmD srye
soodh uph efleuns).

Discuss the time reversal and factor reversal
in index numbers.

Or
(=) GO QL amsefer auaruepsmer afeur.

Enumerate thé limitations of index numbers.
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20.

(<34)

@ oulled 4 Qeuctener 2 SMHUY  Ubg)ser
2_ererer LHEDTMH LD 3 Qeudrenar 5 &(HLIL
UBGIEET o arerar.  @eu@eum(r UWleSBh8)LD
&(1H Ubg) m@ésasﬂu@é]sﬁm)@. a6
1) @Qrar@v Qeudrenar 1) @rewm@id &(HLLY
1) geam  Qeudtenar REMm HmLLY
Bouuspanear fapssey Wwmg 2

A bag contains 4 white and 2 black balls,
Another bag contains 3 white and 5 black
balls, we should take one ball from each bags
then what is the probability of .(i) Both are

white? (ii) Both are black? (iii) One white
and one black? - ‘

Or
Densseler sl a LOMID  Qupss
Copnsms alasgs.
Describe the addition and multiplication
theorem of probability.
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